bd

CROSSPROD

SPORTS QUAD
CROSSPIIRO CARTER COVER ALUMINUM

WWW.Crosspro.pt



ASSEMBLY INSTRUCTION / INSTRUCAO DE MONTAGEM

oW

e

9 Fixagdo DTC / DTC Clamp Ne8 3
8 Fixagdo DTC / DTC Clamp N22 2
7 Porca Freada / Nut Nylock MBS - DIN 985 1
6 Porca Freada / Nut Nylock M6 - DIN 985 1
5 Anilha Aba Larga / Large Washer M8 - DIN 9021 1
4 Anilha Aba Larga / Large Washer M6 - DIN 9021 1
3 Paraf. Especial DTC / Special Screw for DTC 7x25 5
2 Paraf. Cabega Redonda Sext. Int. c. FA / Round Head Screw With Washer False |M8x20 - 1SO 7380 1
1 Paraf. Cabega Redonda Sext. Int. c. FA / Round Head Screw With Washer False |M6x25- ISO 7380 1
ITEM N2:|COMPONENTE (COMPONENT): DESCRICAO (DESCRIPTION):|QUANT.:

ACESSORIOS (ACESSORIES)

SPORTS QUAD
CARTER COVER ALUMINUM

CROSSPRO

PR O T & O T 180 I? P s 8T S

1D.022.02 DATE: 29/06/2021




